|l in the planks, where applicable:

{  Choosethe most appropriate articles to f : efficient organization-
Iti pleasure to do business with such
tis__—— (B) & the, a
o o

(BE) Question not attcmpted
11 in the plank:

st appro riate option to fi '
’ o ths(:u’:l':nt ir{){helélass paised the examination conducted in the month of April.
(A) Al (B) Every
(C) Very (D) None
(E) Question not attempted
3 Which of the following does not feature in writing 2 Notice? Choose the correct option.
(A) Signature B) Time, date and place
(D) Agenda of the meeting

(C) Minutes of the meeting
(E) Question not attempted
4 What number from the following options will come in place of 2 in the given series?
ﬁﬂiﬁvﬁﬁﬁmﬁ@ﬁﬁﬁﬁﬁaﬁ?ﬁdw? 3 T W IE?
3,15, 35, 63,7, 143
Aa) 125

< 75
(E) Question not attempted / 311?1’?@ uq

@) 81
D) 99

which one of the following equation becomes correct?
¥ s et 3§ @ T TR T B2

®) 7 x8+6—-9=25

®) §x2+7-6=9

5 After interchanging + and —; 8and 7,
+ 33 AT 8 ST 7 Y TR TG
(A) g§_7+3%x5=35
(C) 6+8x2— 7=0
(E) Question not attempted | STt 9

6 A certain sum of money y fter
amounts to T 7,464 after 4 years and ¥ 29,856 a
[} 8 ears on Co i
Y mpound interest.

The value of sum is:

w& fAfera amaf et saT=T T 4 I & 915 '
, I % 7,464 3T TUT &6 TS
(A) 3,732 B 71,866 % 29,856 B STl ¥, AT IR 6T A &
() z ;
(E) > (D) 37,320
) Question not attempted / 3TTAIRT T

7 A bag contai : : ; '
e an;n? Ocon:s o.f 50 paisa, 25 paisa and 10 paisa only. The ratio of numb .
25 piiea in fhe bag al:: is 5:8:3. If all the coins in the bag amounts to X 144 then ‘Z; of coins of 50 paisa,
% 03 7 B o0 43 : e number of coins of
- ’ 2 y
2 7R %ﬁiﬁfmﬁ;ﬂj;m 10 8 3 e 81 50 &, 25 8 T 10 3 3 Rt o
() 150 T 144 ¥, oY &S § 25 A & foaent 1 de drfte- AT ST I 5:8:3
(C) 260 (B) 240
(E) Question not attempted / 37wt wey (D) 280
R15] 3 )
~ [PT.O.




Select the most appropriate statements about human insulin,

a. Human insulin ; 1s made up of two short polypeptide chajns,
b. Two chains are A and B chains.

Two chains are @ and Y chains.

Pro-hommtﬁ contains extra stretch of C-peptide. g
€. C-peptide i 1§Present between two chains ; In matur

e form of human msu]m"
Choose the most approprmte answer from the o

i ptions given below: (&)1
(A) a,candeonly :é (B) a,bandeonly :2
© abanddonly if ) (D) a,b,dand ¢ only i
(E)  Question not attefﬁpted o |
ngﬁq%vﬁﬁmmmww
a T ] 91 dreRiveres a@maﬁmramﬁmél e
b. Afsﬁt B #igemd §) tg
c. a‘r siEemt &%ﬁl‘ Y st § =
d. msganﬁ:r It )ﬁc-ﬁtasgmwﬁrh?ﬁ@ug@aaa%ﬁm%l w0
e m-ﬁwsg#ﬁ@waﬁésmwﬁqaamﬁmé@%qﬁmém%l :;';
e R e et 39 ST I : —
A) év—olFra,c@ﬁTe (B) acTa, baiRe
(C) Haera,bafkd o (D) FaTa,b,ddfRe i
(E) taia wer &55 O
L g
9 Select the bacterial speq%j‘é; useful as single cell protein (SCP). W0
(A)  Spirulina 5"‘§ (B)  Methylophilus methylotmpgs
(C) Trichoderma poé&%omm (D)  Monascus purpureus =i
i d
(E)  Question not attempte
mmmww@ma’rwaﬁﬁm% (SCP) % forw smanfr )
Farigar (B) THamgciwreag ﬁma?;mb
i Lg} (D) HHATHT Il \o
(C) grEwenf ma‘haﬁw %
(B) Agufayd :—ﬁ -
Te)
ot tagged using golden yellow coloyr-t-
that are.100% pure and their bag is tagg
10  Select the seeds aldS e.10 P,
iy Fhe e (D) Breeder seeds N
(C) Foundation seedg 'y ) W

(E)ﬁssgzj;]%fgﬁiﬁﬂ?ﬁ%%sﬁtﬁﬁ%ﬁwmﬁww%ﬁmmg
3T

st
(a) 7= W"‘ﬁ“‘) -,m”i% (D) W (3IYeR) sty E
(©) AT (FTT

Ri5] gg



Read the passage carefully and answer the questions that follow:- (Q. 11 to 15)

11

12

13

14

Asthma is a respiratory disorder that we have known about for hundreds of years. However, there is
still no cure although drugs, such as steroids, and inhalers can alleviate the symptoms of an asthmatic attack,
and there is still no known cause. Worryingly, the number of people who suffer from asthma is increasing
rapidly. In some countries in the world the disease is becoming more like an epidemic.

Because of the huge increase in the number of cases in the last 30 years, there is a widespread feeling
that some kind of lifestyle change is to blame. Since asthma is a disease which impairs breathing, many
researchers have thought that a reduction in air quality might have caused the increase in it. However, it is
now thought that although the pollution in the atmosphere might exacerbate the condition, it is unlikely to be
the cause of it.

For a considerable time, household dust mites were thought to be a possible cause of the condition, but
attempts to keep these to a minimum have not reduced the numbers of asthmatic sufferers. Far from it.

Now researchers are looking at diet to find the culprit. The period over which asthma has increased
dramatically in some countries coincides with a period when there have been major changes in diet in
countries which have seen the highest rates of increase. It was first thought that some kind of dietary allergy
might be a major factor.

At the moment, researchers looking for a dietary trigger for asthma are considering whether a lack of
antioxidants could be responsible. Their possible protective powers have been much discussed in connection
with other diseases. Now, doctors are wondering if a diet rich in things known to contain high levels of
antioxidants, such as fruit and vegetables, would prevent asthma, especially if such a diet was followed by
pregnant women.

Meanwhile, the schoolbags of more and more children contain an inhaler as well as books and
notebooks. Something at school could trigger an attack and they must be prepared.

The use of steroids and inhalers for asthma is to:

(A)  healit (B) relieve it
(C) cureit (D) intensify it
(E) Question not attempted

For a long time it was believed that although one of the following mi
it is unlikely to be the cause of it:

(A) an unhealthy lifestyle (B)
(C) insufficient exercise (D)
(E) Question not attempted

ght exacerbate the condition (asthma),

the poor air quality
wrong dietary habits

Identify the statement which focuses on the newest possible cause of asthmatic attack:
(A) The pollution in the atmosphere probably exacerbates the condition.

(B) Houschold dust mites were thought to trigger the attack.

(C) A dietdeficient in antioxidants may be responsible for the condition,

(D) Dietary allergies might be a major factor.

(E) Question not attempted

Which of the following is not likely to trigger an asthmatic attack?

(A) Cigarette smoke (B) Dust mites
(©) Fruits and vegi:abl;:ed (D)  Air pollution
n not attem

B Qe

P.T.O.
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15

Match List-1 with List-IT ~
List-1 (Words) ‘List-I1 (Antonyms)
a. alleviate I. assuage
b. impairs Il.  aggravate
c. exacerbate II.  leisurely
d.  rapidly IV. repairs
Choose the most appropriate answer from the options given below:
(A) a-Lb-I,c-MLd-TV (B) a-ILb-IV,c-1,d-II
©) a-NULb-1V,c-1,d-1I (D) a-1V,b-Lc-II,d-III
(E)  Question not attempted
16 The concept of ‘Directive Principles of State Policy’ in Indian Constitution was borrowed from
(A) German Constitution (B) Irish Constitution
(C) Japanese Constitution (D) American Constitution
(E)  Question not attempted
I Hierem 3 T % i Frdvs Rrgrat i syamon TSR
(A) ST Efe (B) AR wfyum
(C) <M & dfeum (D)  TafEnr & d@iyum
(E) SuRayy
17 The Rising Rajasthan Global Investment Summit 2024 is being organised in
(A) Jodhpur (B) Ajmer
(C) Bikaner - (D)  Jaipur
(E)  Question not attempted
TSI T et e Wit 2024 7 ST TR R
(A) SR (B) 3
(C) (D) SR
(E) Saf@yy
18  The diameter of a garden roller is 2.8m and its length is 4m. If it takes 5 revolutions in 30 seconds, then how
much area will it cover in 5 minutes? ’
(A) 1760 m? (B) 1440 m?
(©) 1860 m? D) 1540 m?
(E)  Question not attempted
ok TITSA TITT 1 AT 2.8 Hiet i a4 wiet 81 af 7 30 Adwe & 5 AR R TR, A 5 e g ey
(A) 1760 Her? (B) 1440 iz
(C) 1860 Hizx? (D) 1540 =2
(E) qafaug e L)
9 2+ d by isequl 2l = e T
IR I T qual to - - ks | ey 3
2.4 .6 — e ol p 6
ST T o T - gxe. o SEHREe
(A) e1 _(B) 2
© 3 (D) ¢?
Ris (E)  Question not attempted / 377afe war
! % > [ P.T.O.



s e D
20  The perimeter of an isosceles triangle is 32 cm and length of each of the equal sides is G times of the length
of base. What is the half of the area (in cm 2) of the triangle?

o wfsag B ﬁw&mn@ﬁ%aﬂtmmwﬁaﬁrmmaﬁmm o R ey

&yt ST ST g@rﬁ o) T 7 )
(A) 38 (B) 42 W0
(C) 48 (;‘3 (D) 24 X%
(E) Questxgm not attempted / Wﬁﬁ 9q (&)

: Ay
21 If 12 boys or 18'girls can do a certain work in 14 days, then in how many days will 8 boys and 16 girls o the
same work? ¥

aﬁlzaﬁaﬁ%lsw%ﬁmwhﬁmﬁﬁﬁwwm%ﬁSa%%@16@%@%&#%
Rt qu T -

(A) 7 B) 9

© 1 (D) 13 ,

(E) Questlb'ﬁ}not attempted / 3T T4 {”g

22 Which two s1’gﬁs should be interchanged in the following equation to maKéit correct?

20+5+20x8-2038 o

(A) +and &0 (B) —and+ Y

(C) +and >~ (D) -—and +

(E) Questibhinot attempted &ﬂ

rrTerRer e 1wt s 35 R e o 1 2 e o e S
20+5+20x8-20=38

(A) +3x _(®) -3+ i
©) =3 ® -#- (g
(€) SRR T @®
23 ‘FEme o aky fae B- %
(A) FT+3NGi" ®) FE+WE
(€) T +T5E D) SHTAE 0
() sruid s o
24  Digilocker is a flagship initiative of which Ministry? N .
(A) Ministry of Education (B) M%nfstry of Finance
(C) Ministry of Electronics and IT (D) Ministry of C(\lgnerce and Industry
(E) Ques $&h not attempted 2 g
AT Sl S e . )
(A) farear ggyerd @) fwwmem 0
(©) ﬁ;@ﬁgqqasqﬁaqam (D) W@Bﬁfgim
()  wafaps il
25 Wherejs Ra}z::than Atomic Power Station located?
Choose the st appropriate option from below: i
(A)  Sura (B) Baran W0
(C) Jodhpf; (D) Rawatbhata 0
(E) Quemm not attempted {3\
e TS o et feoa 87 0
qraTa (B :
¢ s ~ () v
©) L
L 6 | '[P.T.O.



which is not the key vision areq of Dig

26 : ital India Programme?
Choose t-hflﬁ ”'?St appropriate option from below:
(A) Digital infrastructure as g core utility to every citizen
(B) Governance and service on demand
(C) Digital empowerment of citizens
(D) Promotion of behavioura] changes of citizens
(E) Question not attempted
e Fefeet shean wrts v f a2
e § & I) IugE ferere —
(A) ST T 5 T e Smaitirar 3 v Refyerer fardt gier
(B) m@ﬁm%ﬁ@mﬁﬁwwaﬁtﬁmf
(C) it =t feforeet qemhiemr
(D) AT % FAER UREI Hi a3
(E) FgRRa s
27 Which of the following statement is not correct about alluvial soil in Rajasthan?
(A) This soil is found in northern and eastern districts of Rajasthan.
(B) Itis light brown red in colour and has a sandy and loamy texture.
(C) 1tis a fertile soil.
(D) This soil contains enough quantity of nitrogen.
(E) Question not attempted
TSTET  STEA1E HaT o 91§ FHefeiad § & si-ar s ad T8t 82
(A) T8 TR TSR o It o et fredt & g <irelt 21
(B)  SHeHT UT &kl S[U ST & ST 36T 7T afs e 2|
(C) IE Tk YIS HeT &l _
(D) gqgaﬁmg‘;jmaﬁmw@?ﬁ%l
(E) Srguiayy

8 Tropical thorny forest is found in which of the following regions of Rajasthan?

Choose the most appropriate option from below:

(B) Jaisalmer

(A)  Udaipur
(C) Baran (D) Kota
E i ted ; .
mmge%ﬂé:ﬁmﬁmﬁﬁm & § 9T SITa &2
1 % & e aages Faeed I e
A) R ®)
© (D) @I
E)  smfaag
9 . ; ing place of Rajasthan?
(‘:(Olaya.t lake” is situated in which of the following z S e
(C; il.kaner (D) Churu
jmer
(E) Question not attempted . : a9
« e 3 & fora war # 87
@ e T & (B) IR
(C; Eicacy D) T
®  srqafea s 7

Rlsl 3%

[ P.T.O.



£ Ve

30

31

32

33

34

35

- T
Pointing towards a girl in the picture, Sunita said, “She is the mother of Neelam and Neelam’s father ity
son”. How is Sunita related to the girl in the picture? .
(B) Niece

(A) Daughter . 0
(C) Sister tg (D) Mother -1n - LawkD

fon 0
(E)  Question ngtattempted . |
T, Uk TR e 3T R e g geter 3 e, “agﬁmﬁwsﬁ%aﬂgﬁaw%ﬁﬁreﬁﬁ%gq% I
R TR et A e @ Heiftra 27

A ¥ E (B) isf/sist ‘S
(C) & v (D) ™= i
(E) 3rguia w
If ‘PARK’ is co<_lggi as ‘5394’, ‘SHIRT’ is coded as ‘17698’ and ‘PANDH{HS coded ‘532068’ then hoy
would “NISHARR{Be coded in that code language? ({®)
afe PARK’ #5504, ‘SHIRT® %1 17698’ 3 PANDIT” %7 4532068 S ReaT T £t ‘NISHAR’ %
Tt e T & AT SR T ST FM% S IR T PAveIT
\/(A)_3§_1:7_3'2 v=i (B) 261789 < 2 N ljé‘?&ﬁffj
©) 231954 g D) 266734
(E)  Question notiattempted / AR T ™
Find the missing number (?) in the Table:
2feret & W eI (@) 1 B e
2 | 1 62 Ve
4 | 7| 2¥ W0
8 | 5 | &
30 | 34 | 2 O
(A) 15 19) B) 16 g
© 17 v (D) 20 s
(E)  Question not attempted / ST w3y
Choose the mos{appropriate English word for the given word:
SideaT W :g
(A) transgres$& (B) transcription A0
©) transcontngntal (D) transfigure N
(E) " Question pof attempted :g
Choose the mos%ﬁ:itablc word to complete the sentence given: (g
A person who settles disputes/disagreements is known as an v
(A)  Altruist (B)  Arbitrator
(C) Anarchist:n (D) Ascetic 19
(E)  Question Q?j attempted g
Choose the Illl),s‘@}pn;l)rl’ﬂf(! word opposite in meaning to: )
CHIVALROUS | =
(A) Gallant 1) (B) Discourteous 1)
(C) Defiant ™ (D) Brave v

(E) Question Not attempteq

P.T.O.
R15] 8 8 [



¢ The Supreme Court has order d
3 periphery of the critié4) tiger h:bitgtlifi:.;ﬁstlhazp Government to shut 68 mines operating within 2 1 km
. : ich tiger reserve? L
(A) Dholpur-Karadff'Ti
(C) Sariska Tiger ser%Zr Reserve (B)  Ranthambore Tiger ReSérve
(E) Question not aiismpte d (D)  Ramgarh Vishdhari T‘g%r Reserve
Feftee ARITCRT ¥ TSTE §hR N _
S T T R R forer Tt sperTeoer 3 et aer e 3 1 ’r‘z@rﬂaﬁ:m}tﬁwrﬁ 68
A) U HI TR o |
Ecg ittt 2Te frord ® T
(E) CERILGR (D) THTG [EEPI FAEUES =
. . |
3 IB;); ﬁ“iilt?;l;onsnmtlOlt‘éﬁmendmeﬂt, the Urban Local Self Government was given ﬂgstatus of a Constitutional
' 0
t .
) Consn.mt‘.g%m Amendment (B) 74" Constitutional Arfiendment
© 7 C.OHStltut] Hal Amendment (D) 42" Constitutional Afféndment
(E) Question not pted 1
(A) 44Tt Haien | B) 743w Hei
(g) 7391 Haenfees e (D) 42 Gduifre GeneA
(B) <Tguiasd | | -
38 Panchayati Raj is a system of: ) (1Y)
Choose the most ap, riate option from below: =
(A) Local Governgnent (B) Local Administratio:
(C) Local Self Govérnment (D) Rural Local Self Govgrmyment
(E) Question not hffempted L0
AT v TR i
frefafaa § & @aq Sugw feked - _
(A) TIHR TSR (B) T T
(C) wHMA mm‘;g (D)  TTHIT ST T @
(E) ATaRa byt | | | | Y-
39  Choose the word mosB3imilar in meaning to the underlined wor-d in the sentenc?dﬁj
The acerbic remarks 3fthe boss were unwarranted as she had Put in a lot of effort i Preparing the presentation.
(A) whimsical v (B) bitter
(C) appreciative (D)  childish ﬂ
(E) Question not aft'émpted
40 Choose the word most similar in meaning to SPURIOUS from the options given:
g B) incessant
A) soiled ( . A
Ec; unauthentic @ (D) considerate (g
(E) Question not atjgmpted O
41  In which generation @nicroprocessor *VLSI’ chip (32bit) is used? o)
(A) First (B) Second o
(C) Third E:; (D) Fourth g
E) Question not att pted ,
;éﬁﬂ@rmaﬁrmﬁ?’g ooft v @ od g (32 o) sl R gy
B) fadr
(A) TIH
© T @) g
(E) Al sd
9
R15] 38

[P.T.O.



‘7 -
owing is a system software: ®) Power point

. he foll
42 Whichoft )
(A) Excel (D) Linux
(€) MS word —_—
i t attemp
(E) Qucs!xon no g 3
ﬁmﬁiﬁaﬂﬁﬁﬁ?[mm“'qaa’“ B) dERUEE
o) T o) e
(C) WW
(B) FJaRd 54
43 In Rajasthan, inserting a gold nail in the middle of the teeth by a woman is calle..
(A) Damna (B) Bor k_l
(C) Choonp (D) Baan
(E)  Question not attempted
T H, Tt wfeer gm aielt o sfter @ o shiet ST sheelTaT 8-
(A)  zpEm (B) &R
©) (D) it
(E) rgaRawy
44 i . .
2);1 ()\:hxctlll] date second sta.ge Rajasthan Union (Present Rajasthan) was formed?
s the most appropriate option from below:
(A)  17% March 1948
(©) 18 April 1945 (B) 25" March 1948
h
(E) Question not attempteq (D) 30% March 1949
TS WY (49T ey ED)
mﬁamm%ﬁwwmmﬁm@n
(4) 1777 1943 "'
g:?) 18 373 1943 B) 2549 1948
) St s D) 3091 1949
45 Accordip
£1020]]
(A)  Bikane, ©ensus, which of he following g;g
©)  Barme, Brlcts Of Rajasthan has the lowest population 6
(E) Question ( Taisalmer
2013 Ot attempeq D) Py
(A) Ty Wﬁqﬁﬁ-ﬂ,}
(E) . M (B) ST ey qad & 27
ul ” G| ﬂﬂ
6w lich g the f, (D) Tt
(A) My, ollowing i an
©) o use OUtput gey;
) Sptklktr g ?
(B)  Quey
Bl
ﬁqﬁf@ﬁ & . m‘{?l@[]}nted EIS) ‘Il(eyboard
(A) HRw ey i Oystick
(C) wfiaw A fy
(B)  sraftd uy
RI5]| gg D) ehrire
D) R

10



0

41 1 PB (Petabyte) is equal %f 2_ WO
(A) 1024 TB (Terabyte, (B) 1024 Bytes O
(€©) 1024 MB (Megabyts) (D) 1024 GB (Gigabyte) i“:g
(E)  Question not attenipfed 1
1 t &t (Yerage) ser . ¢ :.f)
(A) 102431 (%umgz (B) 1024 3™ 4
(©) 1024 T (Amraze) (D) 1024 it st fimrense)
(B) Igaidwsy
. T o0 _
48  Which of the followinggn spreadsheet is a method of arranging the data in ascending!d® descending order?
(A) Filter e (B) Sorting @
(C©) Auto Sum =) (D) Logical operator Z;:
(E) Question not atteiffgxi)ted -
ﬁﬁ%{f\@ﬁﬁﬁﬁwmﬁgﬁzﬁm@ SATOE AT mﬂﬁ%ﬂﬁwaﬁ%%@ﬁ@ﬁ‘ﬁ%'
(a) fhee 4 (B) W 1
(C) SiRrww (D) iifomehet SR
(B) Agaf@w s
49  When the primary tribut%éées of a river flow parallel to each other and secondary tribulf}tg_ries join them at right
angles, the pattern is knqwn as . O
(A) Trellis o) (B) Centripetal =)
(C) Radial (L (D) Dendritic ’:_i’
(E) Question not atteﬁ”é’ted Te)
EER(CEHED wﬁ%w#&ﬁ@aﬁ%mﬂaﬁﬁaﬂtﬁ?ﬁwm#ﬁﬁ&?ﬁmwﬁaﬁ
2, T 37 Wfred Y e ST 8-
(A) A (®) s
(C) == Ty (D) FFRH Ty
®) - wgaRaE O ©
50 Which one of the following water bodies separates the Andaman Islands from the Niedbar Islaﬁds?
(A) Gulfof Mannar ‘& (B) 5° Channel :‘i
(C) 10° Channel " (D) Arabian sea Ty
(E) Questionnot atte‘rp_gted . 4
Freferfaa i 8 HIH-81 ST =, S T TE Y R ST FHE W ST T 82
(A) HATCH TR (B) 5° W
(C) 10°=Ad s (D) SREHM ty)
E) oTRE@E A0 &
51 Post- Independence of i:g%ia how many states of Rajputana (Present Rajasthan) \vc@elevated towards the
Indian Union? O Ko}
T 1 T 6 AR ; mm)ﬁmwmuw&mmgm@
Choose the most appropriate qption from below -
ﬁﬂﬁﬁaﬁwﬁ% T -
A) 17 (B) 18
© 19 D) 20
(E) Question not attempted / AT w41 .
R15] 38 1l
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52 Parity (B) Public Private Partnership
hasing Power rar

(A) Purc ‘ (D) Public Partner Price
© purchasing Power Price

i attempted
E) Question not'al |
;a:amﬁémaﬁﬁ o oy ot a7 oef @i

rchasing Parity)
gai(Purchasing Power |

o mafaﬁaim ¥4 Pt et wmftgr(Public Private Partnership)
(B)

() i qe(Purchasing Power Price)

(D) Wrdwe WG e (Public Partner Price) %ﬁm

(E) 3Tdi@ ¥4

53 Which of the following is not an exothermic reaction?
(A) Formation of slaked lime on addition of water to lime

(B)  Burning of natural gas

L

(C) Respiration
(D)  Decomposition of calcium carbonate to calcium oxide and carbon dioxide
(E)  Question not attempted

5 8 i ot o ey AfFT(exothermic reaction) & &7
(A) T o ST 3 = v oy

(B) Wit e w1 g
(C) =ET
(D) mmmmmawmﬁmﬁm
(E) i@y
54 Which of the following is not ap allotrope of carbon?
(A) Diamond )
(C)  Fullerene ®) Hydrocarbon
(E)  Question not attempted ©) Graphite
ﬁ:{fiﬁr?ﬁqmm?ﬂ@
T (Wi o
(A) ®m T
(©) gyéﬁq (B) HES{EaET)
E)  wrEfm gy D) e
55 Oilsontreatmentw'
ith hydrogen, inthe
(A)  Addiy; on reaction Presence of nicke] Catalyst form fats. This is an examp leof/
:?) Displacemen reaction (B)  Substitution reaction
) ()Pcstion not attempte (B) " Oxidation reaction 3
I B ey v
: » AT, Bregior & a
() A sof o T SR Y ¢ e et 21 7 A
(C) ﬁvmqqqmﬁm B)  SRreordt sfirfrar
() iy (D) Siiarco arfifirar y
RI5] 98 3
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a. @ﬁﬁ
b. I
c Tefi=T
d. HHTE
e. THE
frr g g fopedt # @ waifaes Iug® SwghT:
(A) HaTa, b3 c (B) hadla,c3ie
(C) HaAb,d e (D) Fad b, c3d
(E) IIgaiauy
57 frafafed 7 e feflad o 8-
(A) H T F AT UG g (B) & ¥ W g Tl &l
(©) wHr s Y (D) T e G Bl
(E) STaia oo
58 oo T TETa T wer ot B-
(A) TR H T T (B) T IHASHET
(C) EiTA A= (D) T FAT
(B) ATARa A
59  Which Indian player won Bronze medal in the R2 Women’s 10m Air Rifle SH1 event at the Paralympics,
2024.
(A) Mona Agarwal (B) AvniLekhara
(C) Bhagyashree Jadhav (D) Deepthi Jeevanji

(E) Question not attempted
Jufsifies, 2024 # R2 AT 10 HITX @RUTFHA SHI wyt ¥ frg wRea Raaet I ey ugeh ST ?

(A) T ITIETT ®) EfaEy
(C) Tt s (D) e sfamsit
(E) Igaia s
60 “VAIBHAV’ Fellowship Programme is implemented by which Department of Government of India?
(A) Department of Science & Technology (B) Department of Social Justice
(C) Department of Economic Affairs (D) Department of Revenue.

(E) Question not attempted
Fva’ mem%mﬁmmmﬁmw

(A) faEmw Rt fam (B) @ISR = e
(C) fefsh AT AT T (D) Tt favmr
(E) #Auia9d

61  Babool, Khair and Khejri species of trees are found in which of the following forest lands?
Choose the most appropriate option from below:
(A) Montane forest (B) Tropical Thorny forest
(C) Tropical Evergreen forest (D) Littoral and Swamp forest
(E) Question not attempted

W,étaﬁt@ﬁ?ﬁuﬁﬂﬁﬁﬁqaiﬁmﬁﬁﬁﬂﬁﬁﬁmaﬁaﬁﬁmmﬁ?

fier 7 & et 3y faded I
(A) TEdE T (B)  Swiekfesitfi shidar
(C) SwrRfesHd aREer a (D) T geeft ag
(B) Igaia 94
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g
L

. L&)
las’ are found in which of the following S;“tg;e of Ingjqg
62 The tempera%ﬁorests called ‘Sholas (B) Rajasthan &
(A) Punjabyy (D) Tamil Nadu ‘£
(C) Odishd® f;;
. : t \d . LE
(E) Questlw;; not ':lremp ¢ Raa # &, wra o fore U0 H aTU Sy 9 v
s (D) ey
(©) dfem 1y
aﬁa’a‘ﬁﬁ}{ O
v ¢ ' -
: ; imalayahiRiverso
63  Which of théfollowing statement is most appropriate about the' };lila aya ;R tvers
(A) Naturégf flow is seasonal and dependent on monsoon rain all. o
(B) Catchwejnt area is very large. n
(©)  Their pldce of origin is plateau. v
(D) They flow through the fixed course with well-adjusted valleys.
(E)  Question not attempted 0
%W?%&ﬂ%aﬁﬁﬁw%aﬁﬁﬁmmmwﬁmo /2 ©
‘ 5
(A) m@wﬁrﬁw%@r{m@aﬁmﬁﬁ(aﬁr% O
(B) ST & TEd a3 8 )
© T Sr TRy iﬁ
D) éuﬁmﬁmﬁamﬁﬁ%mgﬁfmwﬁ%w% m
(E)  srgigms od
64 Which of the following vieyw shows margins and the rulers? i
(A) Revie@ (B) Page Setup m
)
(©  Page Layout (D) Norma] View W
(E) Questign not attempted &
ﬁ"fﬁqﬁaﬁ%mmwwﬁﬁaﬁtw(mers )Rt STt 2 \O
o T O i
2 (Page ayout) (D) kg (Normal) el
(E)  rgafm gy
65 Which i .
- écq :éngng the follo::;if ]%YS is l;ed for checking Erammar and spelling in M.S. Word?
W 1y O T e ol o e o e 27
©€) F5 g EE; & g;)
2 { F ¥
(E) Quesn'ﬁ not attempte ; MREIEGE L W
LN - ot
66 Choose the moyy “PPropriate worg 10 complete the gj ol
I was deligpyeg ° Biven sentep e, |
————— the presep, You gave :
(A) from N my Fetiremeny,
(C)  with B)  aboy
(E)  Question not attempyey D) for
RIS] g8 14




67 Choose the most appropriate word from the options to complete the given sentence.

Despite her illness, she insisted
(A) on
©) for

(E) Question not attempted

going to work as she had plenty of pending work.
(B) in
(D) to

68  Which one among the following is not a salient feature of the Indian Constitution?

Choose the most appropriate option from below:

(A) Lengthiest Written Constitution B)
(C) Integrated and Independent Judiciary (D)
(E)  Question not attempted

Frferiaa & & =0 =t el wiftrem i ek e R =i 29

Dual Citizenship
Universal Adult Franchise

e & & @@ suge feea
(A) TR e faltaa diym (B)  aredt ATTHERar
(C) WEhishd 3R T =ITIaTfeTant (D) \EE I&h HaTRenR
(E) SAgafaws
69  When was the ‘Agnipath Yojna’ introduced by the Government of India?
(A) 15 July 2021 (B) 14 August 2021
(C) 14 June 2022 (D) 14 August 2022

(E) Question not attempted
TR TR FRT ST FISHT T 36 o T8 off?

(A) 153@T$ 2021 (B) 14 37T 2021
(C) 14572022 (D) 14 3T 2022
(B) Igaia g

70  In Rajasthan, what is the amount payable every month to unemployed educated girls under ‘“Mukhyamantri
Yuva Sambal Yojna’ ? .
mﬁmﬁ‘ﬂ@ﬁﬂ@mm’%méﬁwﬁﬁﬁmﬁmmnﬁﬁaﬁ

Choose the most appropriate option from below:

o § & wad suge foaded 3
(A) T 3,000 (B) ¥ 3,500
(C) % 4,000 (D) 4,500

(E) Question not attempted / I g4

71 Which of the following projects of Rajasthan provides hydroelectric power?
(A) Mahi Bajaj Sagar Dam (3  Jawai Dam
(C) Swaroop Sagar Dam (D) Uchha Dam
(E) Question not attempted

Trorear &1 Frefefiad i A Fi df afise safaed IR R E e

(A) HTE SIS AT A (B) &g iy
(C) T ArI i (D) SarsiY
(E) af@ys N
R15] &8 ) [ P.T.O.




s and seals is called

G dos o . literagy,
The literature which is engraved on inscriptions, cO1i re.
72 the most appropriate option from below: ' hic
Choose (B) Epigrap
(8 &1:{ lk'onal S Tradltlml‘l;i lh
€) Rea £
. d \
E) {(Question not a‘tlcmpl(? _ @%wmrm %I
%aﬁ%ﬁmﬁé@,ﬁmﬁw@mﬁﬁﬁm% ‘13?’
¥ 2
i A o g e RO
A) :ﬁa; &) q-(q-uqao' v.**ﬂ
EC) T & )
(B) orgaia w v
73 ‘Langliiya song’ is related to which god/goddess? ' .
(A) tjgen Mata (B) Kaila D?Xé'
(©) (&hatu Shyam (D) Shree M&: ;aveer
(E) ‘Question not attempted N
SRATAT o et & weifta 2 _ WO
(A) ﬁmmm (B) T qelt
(C) wWEw™ (D) %ﬁﬂ‘s’laﬁﬁ:g
(E) Igai@wy ¥
74 Who%gdisciple was Dhanna?
(A) (Kabir (B) Pipa if3
(C) CRamanand D) Dadu D%ggl
(E) \ uestion not attempted (?1
g sy oo ©
(’é) il ®) e
EE; ST vy ®) E@\ng
0 ;
75 Which pne is the correct lens formula?
(Here ‘g)inbols have their ysyal meaning) T
P g g
mﬂzﬁ;rmmmﬁqﬁam%) 5
i 1 1 \g
(A) == 4L
'7; 14 u . (B) _‘lf_ - l!..i _1_
(C) ——=.1L__l_ ! Ny u
L
Dy L _ 1w
(E) ié)“es‘i““ not ayy a Vo f T
- cmpted / 3Tysfee
76 Horizbia| ¢ .
resulti) imennr o OF €arth's magnetic fielq T o "
intenc; X ie Al tlics 3 58 e 60%
ﬁ"ﬂ‘??g ;;Z;yé?feaﬂh > agnetic fie)q oy theart)l: Piesisaz xk@ > Tesla, and angle of diP ®
5 ¥ ) ﬂtii‘cm ace s -
mﬁ%m%_ @Wmﬁam:s.zx 10~5§W%3ﬁt\@ mﬁqﬁﬁfﬂ
(A) BL2x105y —_— E‘gﬂw 60° | Iq WA
-5,
(C) (62.4 x .10 1t B) 1.6« 10‘?’""’1‘
(E) uestion not atiey, R
RI5| g2 med""‘iﬁﬁ?fuq D) 128« lﬁT

1
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p Which mirror will show a wide area view?
&) Plane mirror

(B) Concave mirror
(D) Parabolic mirror

() Convex mirror

mm%a&wg@nammmmmm L)
(A) T (B) e adur y
€ TEdm (g ‘ (D) v g
(E) ARG wsy v ¥
ng v
78 Choose the odd one-dut from the given options. 163
fow e et # & s frehes w7 99w =t r
(Aa) (AL 143) e B) (7,67)
© (5,35 (D) (13, 195) L5
(E) Question no‘tf';ttempted/ TR w7 w:Z

79  Pinki scored more &ﬁ"én Rakesh. Yami scored as much as Dimple and Lalita scored less than Manju. Rakesh
scored more than f?imx and Manju scored less than Dimple. Who scored the least among the given persons?
(A) Rakesh - P M (B) Lalita ‘S L)
(C) Yami g Y=D (D) Manju =i
(E) Question not attempted

IECIE RN aﬁ%mﬁm Wﬁ@a%wﬁﬁmﬁmﬁwwm@nﬁﬂ%w%aﬁm

7-—13

2 ﬁtm%%maﬁ@mmﬁﬁqlsﬁ@rﬁmﬁmwmm%@ Vo)
(A) THW —(B) e g
ow & ® =
(E) STgafa s v

80 frefafaa it i Irsal it s 3 2- ’f;
(A) A -TsSH (B) T - SR
(C) fafe - sfereyy D) fafer- fder
(E) Saiaygaio Ly
\ . T
81 aﬁgﬁﬁqﬁmaﬁg{xmﬂ%m@m% O
(A) et WO (B) W= oy
(C) g z:j (D) ferefist w
(E) aidaq v-: :ri
82 Tafaftad i @t 97 & Sfarid Aal STl v
(A) FEEor T (B) ufwx
(€ ‘g (D)  STIEARE
® TS e, - 8
83 Ifmand n are the roots of the equation x* + px + ¢ = 0, then what is m? + 5,2 equal mtj;:‘;
afe m 3 n; xz+px()+q=0wﬁma'qa%ﬂ-’fmz+n2ﬁ‘%ﬁ3€r{m§o (j;
(A) PPt24 p B)  pig 0
© P-29 D) pPg =
(E) Question not attempted / 31l g ;;{
R15] 98 17
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84  Ajay invested a total amount of ¥ 10,000 in two types of investments. The first pa of iy, ’
e
simple interest 6% per annum and the second part of investment on 10% per annum, ¢ the totasl ot Yiey,|
end of one year is 7% per annum at simple mlcrcst then the amount investeq ; in each i, nvesty, . estatu’
4 2 R o PR et T 10,000 7w v v af @ e o wmar sy o, "o Wfrend o5y e
e 3 PRI T e 10, witverd ot o & s S W RATR, ﬁi@ﬂ%mqm%%‘*‘%}
S T R, 2 e e e o e KN
(A)  T7500; T 2500 (B) 70005 % 3000
(©  T7300;% 2700 (D) ¥6250;% 3750
(E)  Question not attempted / NI T
85 Freflen B @ e g w0
(A) i (B) F=
© D) ¥
E) spefawy
86 I wree i rf st 2
(A) 39 B) 3
€ = D) 3w
E) rfawy
87  wE-IFr g ¥ gfoa Hifvre .
T (y7eg) =i
1\ -1 (Q“Jiﬂﬂlﬁl‘)
a. sz -
i ‘g’l\f’ L 311?-??[
c. - II. q’l@ﬂl’-‘{
i fim Il 9oy
53 V. opfg
few e e ﬁammmqﬁm
A) a-Vbomn oy g ?
©) a-lbamie.py gy B a-1v,b-m, et q-1
E) sty @ a-Lb-mc-mg-1v
88 ﬁﬁfﬁf@ﬁ‘nﬂvmwﬁm%_
(A) @y
(€) fagu B) 3w
()  wifg gy D) fig
89 Which of the gy, eno
- Plio " Will compleqe t
A4 fau RELS T Y 1€ given series?
.. gfel i igf eligfeiy pp i T o
( (A) eifgi e
(C) ifige (B) figie
(E) Question not ﬂllcmplcdliﬂiﬂfm o Ub)y ifgie 1&
RI5] 38 , ll"'
8




90

91

92

RI5] 98

Ly i
Us} ’?al?fﬁ?,-fv
Gelect a figure ftom amongst the optio SE.
. e‘l‘ft ptions which will continue the series es;tabhshed by the four problem
s
ﬁqﬂqﬁmﬁﬁ@ STRIC ST = h ST <R G SRR T Sy oftary sy @@
problem ﬁgurei{ kepron mg:ﬁm LA ¥ o

/5/ : // =4

;9—7 H_;? T %E 5"’"31
4_ 165 < i)

’ e 403 (o)
N Z i . (0
3 ; Lh
Syt o
A g l A / ':""“"'2,
@ | A% B) | A Ty
4 ‘“5’? ~ ¥ O
] 4
O—
© IN? (D) /7 Ty
e N7 32
(E) Questiogéot attempted / STTART T2 i;*;i
o 3
. &
Which of the fo‘lIowmg is not a space mission launched by ISRO? T
(A) Chandré"réan (B) Mangalyaan L f”i’
© Adltya-L 1. (D) Space-shuttle programme
(E) Questlon not attempted
Frr 3 @ 21 a7 et (ISRO) R @i feram T siafed forer =ft 27 4_1’1
(A) =T 4% B) LRI
(C) sTfed L (D) mmmﬁam
(E) STIaia ¥ oh
Gt W
The main functiéh of a GPS system is: =
(A) Weather%’ég_recasting (B) Navigation and positioning
(C) Satellite ’ﬁaging (D) Space exploratiori -

(E) Question not attempted
1. 1. T" (GPS) ToTTeht @1 g Fd 8:-

(A) TiEE T (B) Wﬁﬁﬂ?ﬁ)ﬁ%’f@xﬁmwm
(C) <9uE Tl (D) Siafer =T gy
() wgafa 99 h
(o))} w
The name of global satellite-based navigation system developed by the United States is
() Gprs * (B) Galileo e
(C) Bei Dou'ﬁ (D) GLONAss  *1

(E) Question not attempted
stdierT (US) 2T fererfurd 41 i &faes 3 - st e (AFRRTT) orredt <t AT R:-

(A) GPS B) AR (Galileo)
(C) <Ear (Bei Dou) (D) TEHTE(Glonass)
(B) gaia ¥4

19
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. ick’s Ph. D. thesis title-
94  Select the Frar?c1s Ha‘try .Comptén Frlck s teins (B) X-ray diffraction: nucleic acjqg
(A) X-ray diffraction: polypeptides and prote : Semiconservative DNA regfi. s
(C)  Transformation in Streptococcus pneumonia (D) 5S¢ Plication mggq
. o d
(E) Question not attempte _
whifere 80 e Tk 3 dua, <) w3 sfvdes o = I
i D (B) XX ThaTr: = e
Aa) XX b Wﬁﬁmgg@ , dror 5
(©) Wﬁﬁmwé@aﬁwr@ﬁw (D) e TR ey
(E) STgaRa s
95 2Mg+02—>2MgO
In above chemical reaction, the Magnesium metal is____ -
(A) Reduced (®B) Oxidised
(C) Dissociated (D) Displaced
(E) Question not attempted
2Mg+0,—>2MgO
mﬁa%ﬁhﬁmﬁmaﬁﬁ?ﬁmﬁﬁmﬁmm@_ﬁél
A) I=fm (B) SRR
(©) Tafva (D) frenfia
(E) SIgaiawer
96  Blood groups in human population is an example of
(A) Co-dominance (B) Incomplete dominance
(C) Pleiotropy (D)  Aneuploidy
(E)  Question not attempted
mwﬁﬁ%ﬁtw T Toh ITTET B
(A) % - wifir (B) 1ot wenifery
(©)  sgrafar (D) 3w
(E) rafaws
97 Find the incorrect match from the following:
Eg; I;lephantiasi;- W. malayi (B)  AIDS-Retrovirus
neumonia-E. histolytica (D) Rin o
(E)  Question not attempted ) Ring worm “piderniophytan
ﬁnﬁ%a}gmaﬁqﬁ%mwﬁﬁm
22; P AP S ®) T (AIDS) - rarree
()  ¥rafemuy D) 2w (v aw) - oferirze
98  Which one of the followin i
£ 1S not
(A)  AIDS a viral disease?
(C) Dengue (B) " Typhoid
(E)  Question noy attempeq (D)  Tnfluenzy
fadasma ,
T e g 4
(A) TUgH (AIDS)
€ S B)  TEwwEe
(E) STaia 4 (D) TR
1
RI5] 38 5 (P



99  Which of the following text is composed by Jambhoji?
(A) Mukam

(C)  Amavsya of Falgun
(E)  Question not attempted

(B)  Vishnoi Dharmaprakash
(D)  Alakh Niranjan

ﬁmﬁﬁaﬁqmm(Text)anﬁaﬁmt%m%?

(A) e B) o enfraprer
(©) T i F (D) g fiem
B) i

100 'Who was the first person to call that region

(A) George Abraham
(©) George Alexander
(E)  Question not attempted

S &0 Y TSI e AT o e e o Ry

‘Rajputana’, which is now known as Rajasthan?
(B) George Thomas
(D)  George Tod

37T TSFEYT ShET ST 22
(A) SISt ormen | (B) i oy
(©) SIS Teiestex (D) SitaE
(E) SigaRaws
101  Which of the following statement is/are true?
a. Metal oxides are acidic in nature.
b. Non-metallic oxides are basic in nature o
Select the most appropriate answer from given options: _ -
(A) Onlya (B) Bothaandb ool
(C) Onlyb (D) Neither anor b
(E)  Question not attempted
1 4 & 7 918 o T R
a. T SIS, Wi § el ey ¥
b.  TUTg % TS, THT N e e ¥
et few T fereredi & & waifare sagw sw g
( A) m a (B) a:ﬁ' a 3ﬁ'{ b
C) Faab (D) Ta3fRTdb

(€) orgaf@sd

102 A greenish coating that develops on copper utensils on being exposed to moist air is due to the formation of

m sxide (B)  Copper carbonate
(C) Copper sulphate (D) Copper nitrate

(E) Question not attempted

it 35 ot ) o - A g v TR T IR B T Ieqey €Y wireft

(A) FI TS ) R e
(C) FroEEH - B) AT
(B) TRl 5A 21

RIS] Sg
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in components oﬂ dettol are -
tos 7 mzcllhloramphemcol "HGlycerol
(c)) 0.2% solution of P}:l&l’lol
(E) Question not attcmptpd
fedid & &I Hh g- vl
(A) rR BT ﬁemi’ra
©) THEH0.2% Rt
(E) Taia w

1y}

LY

(B) 2-3% solution of iodine in gﬁf;bhol
(D) Chloroxylenol and Terpen%)}%

W

P
(B) TUehIErel # ST T 2-3%fererm

T =t
(D) FerifereHTe e it

1)

he Pancha aif Raj system?
104 What is the minimum quétum required for a Gram Sabha meeting under the y j system?

h W
Ww (B) One sixt 5
(A) One fourth P (D) One ol B
(C) One eighth WO bay
(E)  Question not atteqpted L
T Tt ST 3 AT W S e 3 R ST e I T 8 M’
(A) @Gﬁ?ﬂé T"""‘ (B) Eaa.l HIT
(C)  Tadi i (D) THATHTT
(E) rgaita vy Ty
Te)
Lo ' _ -
105 Which one is not an initiative under “Skill India Campaign™? q@
Choose the most appropriite option from below: Cﬁ
(A)  Pradhan Mantri K%%gshal Kendra (B)  Pradhan Mantri Jan Aro gyﬁ ojna
(C)  Skill Saathi Coungselling Scheme (D) Industrial Training Instltutef'g
(E)  Question not attempted =t
I A AR ¥ st B o qae TR
ﬁqﬁ%mmﬁmaﬁ
Eg e anft ) ST TR S g
‘*‘mﬁiﬂﬁ” ©) s s e g
(E) 3rqafayy ey
| © &
106  Which of the following [§fot a Rabi crop in Rajasthan? .
(A)  Wheat ol G
(C)  Mustard (B) Barley -
(E) Q;cstion not attempted (D) Rice
%) 7% g Ay 10
(C) wwi ‘g) B) @
‘ . )
(E)  rqufauy m (D) =g &
107 “fa=g amﬁzﬁmh%ﬂ 4
(A) fa:+d7 H !;.3
©) dr+d= @) fF+ae
(E)  srgafea wa D) &+ ¥
R15] 38
22



109

110

111

112

(A) YA (B)  =sRarfor
©) e (D) Frvf
(E) gaf@wy
ST § -1 TR 29
(A) T (B) 3regdvE
© = (D) fam
(E) rfuiawy
Match List-1 with List-IT
List-I (Characters) - List-II (Contrasting Traits)
a. Flower color I. Green/ yellow
b. Pod color II.  Violet/white
c. Seed shape II.  Round/wrinkled
d. Pod shape IV. Inflated/ constricted
TElt-1 i g=t-11 & gafea ifvr
TEt-1 (e TEf-IT (Frveft 7qom)
a.  gEd L &
b.  wAITT I STHEse
c. S IMER OL i /e
d. el AHR V. %elftgs Mg g

Choose the most appropriate answer from the options given below:

e few e foreredt & & wraiféres sugw swoaf

(A) a-ILb-ILc-IV,d-III B) a-I,b-I,c-II,d-IV
(C©) a-Lb-Ic-IOL,d-IV (D) a-Lb-Mc-IV,d-III
(E) Question not attempted / 3TART T

The Thalassemia gene is present on

(A) XX of 23" pair of chromosomes (B) XY of 23" pair of chromosomes
(C) anautosome (D)  mitochondrial DNA

(E) Question not attempted

doefiftrrsita 00 wIuRudEmr?

(A) 233 oA S & XX (B) 23 RANMR F XY

(C) T AT TR (HATEHHI) (D) Wi e g

(B) Hqaf@ga

Which of the following printer is noiseless, high speed and of high quality?

(A) Typewriter (B)  Dot-matrix Printer

(C) Inkjet printer (D)  Laser Printer

(E) Question not attempted

freferfaa # @ @1 ar ua fiiey aft e, 3o nfa sit s qorsr aren 2y

2FIUTH (B)  EreAfwy fiar
fé,) Zore et (D) & fijey
q4q
(B) T 23

R15] 38 [P.T.O.




113 Which function key isused to edit cell contents in spreadsheet?

Srevfie & 4 Rt o e st e s
A) F5 .

; B) F2 O
(9) iy
(C) F6 - (D) F8 ::g
(E)  Question not attempted / et wu el

v~ L

114 A man is facing North - West. He turns 90° in the clockwise direction and ther"185° in the anticlockwise

direction.Which direct\fgh is he facing now?

L
(A)  East (Vo) (B) South !
(C) North o)) D) West y
(E)  Question not att pted €3

@@%ﬁmﬁmﬁ%g’amgw%na%ﬂmﬁmmwﬁ 90° ﬁ%ﬂmm (G
) TR 135° T ot e v e w2 '

19
@ @ ®) i
©) sW e (D) fim
(B) <guiawy \O Ty)
5 &
115 32 students are sittifg2in a row facing towards North. If Nehal is 14% from th‘:’ eft end then what is her
position from right e{gl” O
32 Foremefl 3ot i SR et g o e 3 43 21 9 Yo an ol 14%%@3;%3%%@@(%
FTR Lo |
A) 17 (B) 18
(©) 19 ng D) 20
(E)  Question not at{é%pted / TR 9 g
116 Arrange the followingWords as per the English dictionary and find the second w‘é')d
A Yo & ey oSt o AR i S AT e W R R
charity, carton, caravanzcardi gan :;;
(A) Carton (B) Caravan =4
(C) _Charity ™ \SP) Cardigan
(E)  Question not atﬁg)pted / ﬂjﬂﬂﬁ BE) _
\0 )
: . WO
117 The remains of GaneshWar civilization are found at which place in Rajasthan? W
(A)  Bhilwara (B) Neem ka Thana O
(C) Udaipur 1)) (D)  Hanumangarh \O
(E)  Question not attempted ;;;
TR AT 5 ST TSTET 3 Ry ey oy 4
() st (B) e oy
€ F=x (D) ¥gHmTE
(E) it 94
RI5] 38 24
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118

119

120

121

R15] $8

Who was the founder of the Chay

han Dynasty of Ranthambhore?
on from below "

Choose the most appropriate opti
(A) Govind Raj

T " (B) Hammir
(C)  Prithviraj &f (D)  Veer Narayan
(E)  Question not attempted L0y
TP 3 <RI 3 S i i O
Pt i1 v 3o e -
. peh (e))
(A) T o B) TR 0
©) TS - Iy (O) dawme ™
(B) SHuREws | 0
Match List-I witf List-IT
Lisztg (Folk art) | List-Il (Material))
a Ka@g I Paper O
b Phady II.  Colour \0
c Paané . O Cloth g;
d. Matdana IV.  Wood v
-1 = g1 i it L)
-1 (S e wef-1n ety
2 W, Loom
b. BEO 1I. a1 L0
. o . 9%l 0
i wish IV. &S 0
Choose the mos}%3 propriate answer from the options given below: (&)
3 T & watfirs Iagw swt: -
(A) a-IV,b- Il c-Ld-TI (B) a-II,b-I,c-I\FL}EJé-HI
(C) a-Lb-I,c-IL,d-1IV (D) a-III,b-IV,c-Hd-I
(E) Question not attempted / Nﬂﬁﬂﬂ a4
0

Fat T RIS EnT T R et qEt safn i e % Fore S At g qeEst S e i
?f) ;;ﬁﬁg,;ﬁég ®) Swmsfer O

© s g © w9
(E) Tgafa 94| O
H
i1 21 gfi-11_4 gaferd Hifsn
- m% (@Firsft 3 et ¥Te) w11 d%a‘fwﬁrﬁa:m)
a. ABRIDGE - Z L 3‘%;?’*‘
b. AT%EEXURE -3 L ¥ "
¢c.  AMENDMENT—Y LU O
d. ARPROVAL — ) Iv. | W
:ﬁ%ﬁqwﬁﬁﬁﬂmﬁ%mﬁsﬁtﬁﬁm 3N
1L b-Yc-1v,d-1 B) a-1IVib-Le-Npd-11
(2)) :II’b c-MILd-1 (D) a-lll,b~ll,c-ulvi§);d-l
( -1, b-B ¢- T
(B) ST —
25
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122 ‘Acknowledgement’ 1 & wqiaT a-

(B) lﬂ‘ol?ﬁ
(A) i‘ﬁ‘“ﬁ (D) THH
g AT T

: f AB. If the perimeter of )
3 Inatriangle ABC, AB = BC and length of AC is ﬁ times the length o AApe i
123 It ¢ ’ : |
ABC is - s
ot 0 A o e, A3 e /3 T e gy
@ 1Y ; B
(14+7 y2) 5. 3, 9 AABC F7 ST 2 -

49
A cm
(A) 59 cm? ® 7
75
A cm
©) 69 cm? D) 5

(E)  Question not attempted / ﬁﬂﬁﬁ Bl

124 1fPQ || RS, then find the value of a + b +c
A PQ || RS, @ a +b + ¢ T F1a &%

P S
s = C /_éi
. b K
= S

(A) 180°
(C) 360°

(E)  Question not attempted / SRELGRE)

(B) 270°
(D) 280°

125 What is the full form of “EEPROM”?
(A) Electronically Frasable Pro
(B) Electrically Erasable Progr.
(C) Erasable Electrically Proce
(D) Electrically Erasab]e Pro

(E)  Question not attempted
“EEPROM” 71 uf 7 §.
(A) ﬁ?ﬁﬁwﬁﬁmﬁﬁﬁwﬁgaﬁwﬁﬁ
(B) wﬁmmmﬁmmmm
(©) Wﬁmmmaﬁmﬁﬁﬁ
(D) ?aﬁamﬂﬁaam&&aaﬁsﬁqﬁ

ammable Read - Only - Memory
ss Read - Only - Memory
grammable Read - Memory

126 Which day has beep d

eclared ag (e ‘Nationg] a i .
(A) 20 August Space Day” in Indiny

(C) 25 August @) 23 August
(E)  Question not D) 27 August
' attempteq
(A) 203:::(1:%ﬁ::“:ﬁ"m?“\i ‘“%aiﬁﬁwﬁawﬁﬁaﬁmw%?
(C) 253 Eg) 23 anrey
(E) 3rafdy4 ) 27 3
R15] 38



127 Match List-I with List-I1

List-I (Indian player) List-IT (Associated sport)

a Mirabai Chanu i Gymnastics
b. wD%pa Karmakar ii. Weightlifting g
¢. ggHima Das iii.  Archery O
d. ngeeplka Kumari iv.  Athletics " ()
WIWWWH%WW )
eI (vt Rareah) 11 (Hefera e 5z)
a. v s i.  ffes v
b LT s i Wm0
c. viemram iii. gt i
4 e iv. Wi
Choose the most appropriate option from below:
e 3 & wrer uges faeres o iR ¥

(A) a-1vg§'1u c-1, d-ii
©) a-, {’)-n c-iii, d-iv

(E) Que@m not attempted / TR T3

(B) a-iii, b-iv, c-n
D) a-ii, b-i, c-iv, fi-m

LQ

128 India deliv red the first consignment of ‘Brahmos Supersonic Cruise M1ss;les to which country?
(A) Nep 1. (B) Bangladesh Tg)
© Phllwg1nes (D) Bhutan N

(E)  Question not attempted

R T aaﬁqmmmﬁmsrvﬁ * <l TRt @ R A7 @ i

(A)  9rgn ®) TR 10
[Easivic

©) (D) = w0
(E) o77<ila wayr Ce)

129 Choose th&host appropriate English translation of the given sentence, &)
EEERIRWE e oy
(A)  Whyshe is weeping? (B)
(C) Shexwhy is weeping ? (D)
(E)  Question not attempted

130  Choose the most appropriate reported form of the given sentence:
He said to Him,”Is your name not Robin?”

i
Why is she weeping?
She is weeping-why?

Ty
(A) He ifquired whether his name was not Robin, %
(B) He a Ked if the name was Robin, N
(C) He qgﬁg that wasn’t his name R'obin WO
(D)  He gsked if my name was Robin, yod
(E)  Quegtipn not attempted L
131  Choose the'most appropriate option to fill in the blank: i
When my friend came to collect her books, I was a little embarrassed as 1 only one out of the five
books that Hlj}d borrowed. ' P
(A) readigy (B)  will have readtp
(C)  had téad (D) haveread O
(E) Question not attempted o 83‘
132 Choose the Qost appropriate option 1o fill in the blank: 141
The police l?J‘lccr stopped us and asked us where . .
(A) were tﬁ.: going (B) are we gom.g
(C) we are going (D) we were going
(B) Question not attempted
27
R15] 38
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133

Choose the most appropriate passive construction of the sentence given:

Everyone knows the facts of the case very well.
—

134

135

136

(A) The case is known to cve'ryonC very well.
B) The facts of the case are very well known.
(C) Everyone is known to the facts of the case.
(D) Everyone knows the facts of the case.

(E) Question not attempted

The executive powers and functions of the Governor are:
a. All executive actions of the Government of a state are formally taken in his name.
b.  He cannot seek any information relating to the administration of the affairs of the state and
proposals for legislation from the Ministers.
c. He can make rules for more convenient transactions of the business of a State Government.
d. He appoints the Chief Minister and other Ministers.

Choose the most appropriate answer from the options given below:

(A) a,banddonly (B) b, canddonly
(C) a,canddonly (D) b, aandconly
(E) Question not attempted

TAUT shT HEHRT iRt 3t e &-

a. U9 GER ot srlert srriaear sitaenies &9 8 3% A1 Wl St 2

b, I TSA VG & TR IS Hft TR T SR 6 TEdT 6 9N 8 SR 8 SR A8 A
Hehdl B

c.  TETSH GTHR & HIHHIS & eI GrrTsiTah Harer o o Fem sm weha

d. azu@wﬁaﬂtwwﬁa‘rm’rﬁwm%l

EIEREILY Feﬁaﬁ o & waifiew I9gw I w—srlr

(A) Fada,b3IRd (B) Shadb,c3iRd
©) FHad a, ¢ 3R d D) Wb,aBﬁ'{c
(B) Irgafa s

Where is the Public Service Commission of Rajasthan located?

(A) Ajmer (B) Jaipur

(C) Jodhpur (D) Alwar

(E)  Question not attempted

TSTEITH I HaT HTENT et feu 29

(A) 3T (B) AR

(€) Mg (D) 3R

(B) gl s

T R “TH 1 Freferfa i & e oref et 2.

(A) o= (B) so@

€ (D) w@

®) FgERa T

1 8 28 [ P.T.O.



137 ﬁn%@aﬁﬁ‘m-w’mwmm%_, N
(A) = - 3ITST (B) wﬁ?-m
(C) - feer

(D) T - 3ifim
(B) STuiawy
138 Frfefen & sragevaraes v 2.
A # (B) =W
© = (D)
E) i@y
139 Six numbers are arranged in decreasing order. If the average of the first five numbers is 40 and the average
of the last five numbers is 30 then the difference of the first and the last number is:
BT HEAT 1 Heq o6 § ey ey AR e ofer et w0 sivaq 40 2 o snRad uter e = st 30
%a\qaa%aﬁtsqﬁaﬁﬁwaﬁmw%:-
A) 25 —B) 50
©) 75 D) 90
(E)  Question not attempted / 31‘:5113@{ o
140  Aloss of 25% occurs on selling an article for Z 1,800. What would be the profit percent if the same article is
sold at ¥ 3,2007
TH AR DT 1,800 F AT 25% Frafrardi ) AT TR 2 3,200 F T B A v T
(A) 25% (B) 35%
©)  30% P 31y
(E)  Question not attempted / ATaia 9
141

Which of the following statement is incorrect for a chemical change?
(A) A gas may be evolved.

(C)  Sound may be produced.
(E)  Question not attempted
@mﬁﬁqﬁaﬁq%mﬁwﬁ@aﬁ?mmw;ﬂ%
(A) T 9 Scdfoid B Tl B

(B) I eI & Wkl & U STaviie st +ft 7t ey 29
(C) ety ST e gt 2l

(D) 7 9ftad 2 gehdr B

(B) wgafayg

(B) Heat may be produced but never absorbed.
(D) A colour change may take place.

142 Honeybee culture is called-
(A) Silviculture
(C) Sericulture
(E)  Question not attempted

(B)  Apiculture
(D) Lac culture

ARG UTeI T el ST 8:-
(a) facdfidem (B) e
(C) wTlwe (D) O (W) T
(B) ST
R15] 92 29
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143 The correct sequence of different steps of polymerase chain reaction is -
(A) Annealing —> Denaturation — Extension
(B) Denaturation — Extension — Annealing

(C) Denaturation —> Anncalli'ng —> Extension

vy
(D) Extension — Be_ﬁnaturation —> Annealing L0
(E)  Question not attempted ;ij
s . L o ; 1
w@nﬁm%ﬁﬁ&:@wuﬁm%- 6
(A)  whfci — fiwor — v :’"1,.5
v : 4
®) Ffswen— SR> e o
© Fiww - wifiT - frew
D) o — Rl — wifti -
' §
E) gaiaws \) !
W0 e
: a o . - &
144 The Calligraphy of thEiI;Imdl version of the Indian Constitution was done by s
(A)  Vasant Krisharl ¥aidya (B) Nand Lal Bose ol
(C) A.V.Thakkar :;; (D) HC. Mukherjee Ls_{_z
(E)  Question not attempted
m{?ﬁw#ﬁm%%«—q"rmaﬂ@m B0 fora e o) n
(A) FTETFT I 5’3} B) T=eTEY Q0
(©) Ui 3T P D) . . yasif g’s
(E) @iy \0
i ,
145 Who is the present (dson 01 September, 2024) Chief Minister of Rajasthan? t_r::
(A) Bhajan Lal Shg—r‘f‘na (B)  Vasundharg Raje
(C)  Ashok Gehlot (D)  Bhairon Singh Shekhav@s
(E)  Question not :.{t!gmpted \Q
TSR & F40T (01 fiveva 2024 % &) it a3 29 ‘é’,
ch ‘
(A) 5 w1t araf "0 (B) T ‘0
0 i i s
(©) m’hmﬂssﬁa fﬁ D) N firz Srara Ty
(E) wafmuy v v
146  When did the I’onugpg;e take over Gog? tg
ﬁ 4
(A) 1506 ) | B) 1510 &
c) 1518 0 w
© : {;; (D) 1526 v
tion not alfg '
(E) Questionno a‘. f{mpted / aﬁﬂﬂﬂw}r Lrg
RIS] 38 o0
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147 Which ministry launched the
(A) Ministry of Finance
(C) Ministry of Defence
(E)  Question not attempted
e TATeTar 3 T 3 Sarfirar gt ey oy
INEREREISE]
(C) T&ITHAT T
(E) ¥faf@ax

148 What is the theme of World TB Day-20247

(A)
(B)
©
D)
(E)  Question not attempted

fradrsh (i) feaw 2024 w1 ofiw (e foren = &2
(A) ¥, 79 & =t wer Woaed ST | o ¥ i )
(B)
©
(D)
(E)

‘Yes! We can end TB’
‘Invest to End T.B save lives.’

‘Wanted: Leaders for a TB-free world’
“The Clock is Ticking’

I I T @ (S FeATh 31 enim)
SRERCRE

149
(A) Barmer

(C) Dholpur

(E)  Question not attempted

FaaRa T ST TS | forg Tom w1 Rera )

(A) =TRHT

(C) Hrag

(B) sraf@ayg

(B)
(D)

150 Which is the fastest train in India?

(A) Shatabdi Express
(&)
(E)  Question not attempted

T et if < 2 A o 82
(A) ATt THETg

(C) T TFT

(E) orgafa usr

RIS] 98

(B)
(D)

Duronto Express

(B)
(D)

31

“Capacity Building on Design and Entrepreneurship (CBDE)’ program?
(B)  Ministry of Education
(D) Ministry of Home Affairs

(el oft < 8 Bt s (gt fopem
(B)
(D) B HATe

faveqr v

1 <ft e T o fore e o, Sfiem aed (s 2 g et @ e
=nifed: 21 <ft qek o 3 fag Yar (@Re: wied BRg s - hraes)

Keoladeo National Park is located in which place of Rajasthan?

(B)
D)

Bharatpur

Rajsamand

Gatimaan Express

Vande Bharat Express

T
H I Ty
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